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Per (5.34), |px dif p
d pJ eD
d x

= −  .  Using the given p(x), we get 

2
19 16

|

19 16

6

2

1.602176634 10 (10) 10 1

11.602176634 10 (10)10 1 2

0.0320435327 1
12 10 (100cm/1m)

26.702944 1   (A/cm )

px dif
d xJ
d x L

x
L L

x
L

x
L

−

−

−

  = − × +  
   

   = − × +   
   

−  = + ×  

 = − + 
 

. 

a)  At x = 0,  Jpx|dif = -26.702944(1 + 0)               ⇒   Jpx|dif = -26.703 A/cm2. 

b)  At x = -6 µm, Jpx|dif = -26.702944(1 + -6/12)   ⇒  Jpx|dif = -13.351 A/cm2. 

c)  At x = -12 µm, Jpx|dif = -26.702944(1 + -12/12)       ⇒    Jpx|dif = 0 A/cm2. 


